

$$1. a) x^2 + \frac{5}{2}x - \frac{1}{2} = 0 / \cdot 2$$

$$2x^2 + 5x - 1 = 0$$

$$x_{1,2} = \frac{-5 \pm \sqrt{5^2 - 4 \cdot 2 \cdot (-1)}}{2 \cdot 2}$$

$$x_{1,2} = \frac{-5 \pm \sqrt{25+8}}{4}$$

$$x_{1,2} = \frac{-5 \pm \sqrt{33}}{4}$$

$$x_1 = \frac{-5 + \sqrt{33}}{4}$$

$$x_2 = \frac{-5 - \sqrt{33}}{4}$$

$$b) x^2 + (a+b)x - a = 0$$

$$x_{1,2} = \frac{-(a+b) \pm \sqrt{(a+b)^2 - 4 \cdot 1 \cdot (-a)}}{2 \cdot 1}$$

$$x_{1,2} = \frac{-a-b \pm \sqrt{a^2+2ab+b^2+4a}}{2}$$

$$x_1 = \frac{-a-b - \sqrt{a^2+2ab+b^2+4a}}{2} / \sqrt{\quad}$$

$$x_1^2 = \frac{a^2+b^2 - (a^2+2ab+b^2+4a)}{4}$$

$$x_1^2 = \frac{\cancel{a^2+b^2} - \cancel{a^2} - 2ab - \cancel{b^2} - 4a}{4}$$

$$x_1^2 = \frac{-2ab-4a}{4}$$

$$x_1^2 = \frac{-2(ab+2a)}{4}$$

$$x_1^2 = \frac{-ab+2}{4} / \sqrt{\quad}$$

$$x_1 = \frac{\sqrt{ab+2}}{2} i$$

$$x_2 = \frac{-a-b + \sqrt{a^2+2ab+b^2+4a}}{2} / \sqrt{\quad}$$

$$x_2^2 = \frac{a^2+b^2 + a^2+2ab+b^2+4a}{4}$$

$$x_2^2 = \frac{2a^2+2b^2+2ab+4a}{4}$$

$$x_2^2 = \frac{2(a^2+b^2+ab+2a)}{4}$$

$$x_2^2 = \frac{a^2+b^2+ab+2a}{2}$$

Ana Špičić, Karla Špičić,

Dora Bekavac, Kaja Cerjak